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1 | 1120193072 | FXRE 1 0 0 p 3 100 1 9% |EWIE at% | REREE (@) F—Ht
2 | 1120193439 | SEEH 2 0 0 = 1 99.6 2 9% |FEWHILE G | FRIERTE (@) F—t
3 | 1120191631 | Z=ZH4H 7 0 0 p 5 99.2 3 9% |FEWHILE A% | FEREE (LiR) FE—itt
4 | 1120191771 RF 3 0 0 = 33 98.8 4 9% |FEWHILE G | FRIERTE (@) F—t
5 | 1120193698 | BRI 8 0 0 = 14 98.4 5 9% |EWmIRE & RERTE (LB) | F—#t
6 | 1120192988 | K R{E 11 0 0 = 6 98 6 9% |EWIRE & RERTE (LB) | F—#t
7 | 1120192706 | % 12 0 0 = 2 97.6 7 9% |EWmIRE a RIER A (T@) | FHt
8 | 1120193364 | Z=HiE 5 0 0 2 56 97.2 8 9% |EWIFE & IR A (T@) |
9 | 1120192106 | BrE# 10 0 0 2 34 96.8 9 9% |EWIFE & IR A (Tw) |
10 | 1120190895 | kS 15 0 0 =2 10 96.4 10 % |FEWItE G | RERER (TB) | £t
11 | 1120191496 | N &K 6 0 0 =2 67 95.6 12 % |FWItE ai% | REREK (TB) | £t
12 | 1120192412 | EXZF 13 0 0 =2 28 95.2 13 % |FWItE a8 | REREK (TB) | £t
13 | 1120190098 | #kEH 9 0 0 2 51 948 14 % |FWItE =) KR A (T@) |
14 | 1120192088 | #HKiB 14 0 0 2 26 94.4 15 % |FWItE =) KR A (T@) |
15 | 1120192349 | =18 16 0 0 2 17 94 16 % |FWItE =) KR A (T@) |
16 | 1120180990 | fE/iEa 17 0 0 yo 36 93.6 17 % |FEWIE a8 | RERERK (TB) | £t
17 | 1120192470 | &% 20 0 0 £ 22 93.2 18 9% |EWIR & HRERAE (T@) |
18 | 1120192523 | RIFIE 21 0 0 b 20 92.8 19 9% |FWILiE a RHERRE (LB) st
19 | 1120193470 | REH 22 0 0 ps 29 92 21 % |FEWmIE a RHERRE (TB) | £t
20 | 1120191818 | =& A 25 0 0 P 15 91.6 22 9% |EWIRE =) RHERRE (TB) | £t
21 | 1120191608 | #ERA 28 0 0 b 6 90.8 24 9% |FWHILiE a RHERRE (LB) st
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1120191311 | ZE&K 26 0 0 pos 21 90.4 25 % |FEWIE G | HRERER (TB) | St
1120191630 | XEE 18 0 0 = 73 90 26 9% |FWHILE &% | RERER (@) E—Ht
1120192404 | {RE% 27 0 0 = 23 89.6 27 % |FEWIE G | HREREE (TB) | St
1120193558 | =5 1 0 0 = 1 100 1 52 |TAT#% G | RBERER (LB) E—it
1120192585 | X353 2 0 0 = 13 99.6 2 52 |TAT#% G | RBERER (LB) E—it
1120191056 | X|&E&F 4 0 0 pos 4 99.2 3 52 |TWT# 5% | RERFK (BB) | F-it
1120191488 | ERtAH 3 0 0 £ 10 98.8 4 52 |[TuTH B | RERFE (BB) | F-it
1120192908 | #fB3& 5 0 0 pos 2 98.4 5 52 |TWkT# G | RERER (TB) | S5t
1120192206 | #£23 6 0 0 2 5 98 6 52 |[TwTH B | RERFK (BB) | F-it
1120190445 | FREEHE 8 0 0 2 7 97.6 7 52 |[TwTH B | RERFK (BB) | F-it
1120193335 | BREK 7 0 0 2 18 97.2 8 52 |[TuTH B | RERFK (BB) | F-it
1120193322 | =& 9 0 0 =2 27 96.8 9 52 |TMkT# ai% | RERFE (BTB) | F-it
1120191298 | fFEX 13 0 0 2 6 96.4 10 52 |TMkT# aif | RERFK (BB) | F—it
1120192702 | #E18 11 0 0 2 19 96 11 52 |TuTH & RERRE (LB | St
1120190916 | MR 10 0 0 2 37 95.6 12 52 |TuTH & RERRE (LB | £t
1120191614 | X2 16 1 1 2 15 94.8 14 52 |TuTH =) RERRE (LB | £t
1120192444 | FEHEY 1 0 0 2 1 100 1 86 |V ai% | RERFK (FB) | F—it
1120191128 | i 2 0 0 yo 7 99.6 2 86 |M I =) KRR (L@ | F#t
1120190800 | FJkER 3 0 0 2 2 99.2 3 86 |#HM I & RHERRE (LB | £t
1120191689 | BIEFH 5 0 0 ps 10 98.4 5 86 |Mm LT ai% | RERFR (FB) | Fit
1120191469 | Z=AR 8 0 0 pos 9 98 6 86 |Mm IR ai% | RERFR (FB) | Fit
1120193060 | FAFE 7 0 0 ps 16 97 7 86 |Mm IR a RiERTIE (BB) | F#Ht
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44 | 1120191293 | &K 6 0 0 = 22 97.2 8 86 |t IiE G | HRERER (TB) | St
45 | 1120192097 | IBRIE 10 0 0 = 4 96.8 9 86 |t IiE G | HREREE (TB) | St
46 | 1120192342 | Rk 9 0 0 = 13 96.4 10 86 |t IiE G | HREREE (TB) | St
47 | 1120190885 | 3kKZE 12 0 0 = 3 96 11 86 |HMITE G | RBERER (LB) E—it
48 | 1120190085 | &ihE 11 0 0 = 12 95.6 12 86 |t LiE A% | KERERE (@) E—t
49 | 1120192741 | S&EHZ 14 0 0 pos 24 95.2 13 86 |Hli I 5% | RERFK (BB) | F-it
50 | 1120192425 | %7 18 0 0 2 8 94.8 14 86 |M I B | RERFE (BB) | F-it
51 | 1120191085 | =M#T 16 0 0 pos 23 94.4 15 86 |Hli I B | RERFK (BB) | F-it
52 | 1120191321 | =3k 13 0 0 p 49 94 16 86 |MM I B | RERFK (BB) | F-it
53 | 1120191319 | #MEE 15 0 0 p 40 93.6 17 86 |MM I B | RERFK (BB) | F-it
54 | 1120191916 | R 17 0 0 2 36 93.2 18 86 |M I B | RERFK (BB) | F-it
55 | 1120191955 | 3KF4! 22 1 1 P 15 92.8 19 86 |#HM I ai% | RERFE (BTB) | F-it
56 | 1120193334 | 3kfEYl 21 0 0 2 38 92.4 20 86 |#HMIiE aif | RERFK (BB) | F—it
57 | 1120192340 | EE£3% 20 0 0 2 47 92 21 86 |#HM I & RERRE (LB | St
58 | 1120192111 | BHYR 26 0 0 £ 14 91.6 22 86 |HMITE =) RERRE (LB | £t
59 | 1120192272 | EhiEA 25 1 1 £ 20 91.2 23 86 |HM I =) RERRE (LB | £t
60 | 1120193361 | "W 1 0 0 o 4 100 1 16 Zﬁl@ﬁi (ERTH =) RHERRE (TB) | £t
61 | 1120192071 | 7/2E 2 0 0 yo 3 99.6 2 16 gzﬁi (SR ai% | RERFK (FB) | F—it
62 | 1120192780 | #iHE 3 0 0 = 1 99.2 3 16 gzﬁi (ERXHK ai% | RERFR (FR) | Fit
63 | 1120190208 | ##k 4 1 1 2 2 98.8 4 16 ggﬁi (ERXE | am |smenk w8 | 2t
64 | 1120193209 | FEBEHt 1 0 0 ps 2 100 1 36 |sERSENNIIE ai% | RERFR (FB) | Fit
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1120193267 | EHE 2 0 0 2 1 99.6 2 36 |ERES;MATRE B |RERAE (EE) | F-#t
1120191914 | 3KE=HS 3 0 0 pos 16 99.2 3 36 |RERSEsNIRE G | HREREE (TB) | St
1120192765 | BKFAE 5 0 0 pos 7 98.8 4 36 |RERSEsNIRE G | HREREE (TB) | St
1120190499 | £F& 4 0 0 = 15 98.4 5 36 (ERSaNHIHE G | RBERER (LB) E—it
1120193325 | ZRE%F 7 1 1 = 9 98 6 36 (RERSaNHIHE G | RBERER (LB) E—it
1120193135 | FieE 9 0 0 pos 4 97.6 7 36 |BRSzmIANIRE G | RERER (TB) | 5t
1120193015 | #BK M 8 1 1 pos 11 97.2 8 36 |RSzmIANIRE B | RERFE (BB) | F-it
1120193720 | BR#F#B 12 1 1 pos 3 96.4 10 36 |BRSzmIANIRE G | RERER (TB) | S5t
1120193162 | £&1E 2 0 0 2 3 100 1 63 |HFEHIRE B | RERFK (BB) | F-it
1120192197 | [RFEAA 3 0 0 p 5 99.6 2 63 [EREHIRE B | RERFK (BB) | F-it
1120193213 | BXRZR 4 0 0 2 2 99.2 3 63 [EREHIRE B | RERFK (BB) | F-it
1120192279 | 3KIEA 1 0 0 =2 25 98.8 4 63 [EREHIRE ai% | RERFE (BTB) | F-it
1120192156 | #REEER 8 0 0 2 1 98.4 5 63 [EREHIRE aif | RERFK (BB) | F—it
1120193296 | Fi#i%E 6 0 0 ys 15 98 6 63 |EREHIE =) RERRE (LB | St
1120191926 | L% 5 0 0 2 33 97.6 7 63 |EREHIE =) RERRE (LB | £t
1120192584 | #&%¥ 9 0 0 2 13 97.2 8 63 |EREHIE =) RERRE (LB | £t
1120192524 | H&Z 7 0 0 o 30 96.8 9 63 |EREHIE ai% | RERFK (FB) | F—it
1120191299 | LRiR 11 0 0 o 8 96.4 10 63 |EREHIRE =) RHERRE (LB | £t
1120192868 | R 10 0 0 yo 18 96 11 63 |EREHIRE =) RHERRE (LB | £t
1120192345 | MtER 12 0 0 ps 10 95.6 12 63 |EREHIE ai% | RERFR (FB) | Fit
1120193220 | FZEX 15 0 0 pos 11 95.2 13 63 |EREHIRE ai% | RERFR (FB) | Fit
1120191622 | #HER 17 0 0 ps 9 94 14 63 |EREHIRE a RiERTIE (BB) | F#Ht
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87 | 1120192661 | =M 18 0 0 p 14 94.4 15 63 |ERFEWIE at% | REREFE (@) F—Ht
88 | 1120193286 | =zl 14 0 0 p 44 94 16 63 |ERFEWIE at% | REREE (@) F—Ht
89 | 1120191633 | ¥t 13 0 0 p 56 93.6 17 63 [EFREHIE at% | REREFE (@) F—Ht
90 | 1120191888 | Em&EZ 20 1 1 p 27 93.2 18 63 |EREWIE A% | FEREE (LiR) it
91 | 1120191594 | FEF3® 16 0 0 p 52 92.8 19 63 [EFREWIE A% | FERER (LiR) it
92 | 1120192036 | FiEE 1 0 0 = 10 100 1 26 |HRERIEIRE G | RERER (TB) | 5t
93 | 1120193065 | KLIK 3 0 0 = 1 99.6 2 26 |HREHIEIRE G | RERER (TB) | 5t
94 | 1120192060 | EHE(E 2 0 0 = 18 99.2 3 26 |HREHIEIRE G | RERER (TB) | S5t
95 | 1120190345 | &’k 6 0 0 = 6 98.8 4 26 |HREHIEIRE a8 | RERER (TB) | 5t
96 | 1120192320 | #A{ZX 4 0 0 = 21 98.4 5 26 |HeEHIEIRE a8 | RERER (TR) £t
97 | 1120191948 | ZEE 5 0 0 = 16 98 6 26 |HRERIEIRE a8 | RERER (LB) | 5t
98 | 1120191048 | Z={E@ 8 0 0 = 5 97.6 7 26 |HEEHIEIRE G | REREK (TB) | 5t
99 | 1120191551 | =4 7 0 0 2 11 97.2 8 26 |BHEFIE TR G | RERER (TB) | 5t
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